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±ÜÄàûÝ¦ìWÝX ÓÝÊÜÞ®ÜÂ ÓÜãaÜ®æWÜÙÜá
General Instructions to the Candidate :

1. D ±ÜÅÍæ°±Ü£ÅPæ¿áá Joár 34 ±ÜÅÍæ°WÜÙÜ®Üá° Öæãí© Ü̈áª. »ÝWÜ&A ÊÜáñÜá¤ »ÝWÜ&B WÜÙÜ®Üá° JÙÜWæãíw¨æ. 

»ÝWÜ&A®ÜÈÉ Employability skillsWæ ÓÜíŸí˜Ô¨Ü ¯ÜÅÍæ®WÜÚ¨Üáª, »ÝWÜ&B®ÜÈÉ ÊÜÞ×£ ñÜíñÜÅþÝ®ÜPæR 

ÓÜíŸí˜Ô¨Ü ¯ÜÅÍæ®WÜÚÃÜáñÜ¤Êæ. 

 This Question Paper consists of 34 questions including Part-A and Part-B. Part-A 

consists of questions related to the Employability skills and Part-B consists of the 

questions related to Information Technology. 

2. ±ÜÅÍæ°WÜÚWæ PæãqrÃÜáÊÜ ÓÜãaÜ®æWÜÙÜ®Üá° ±ÝÈÔ. 

 Follow the instructions given against the questions. 

3. ŸÆ »ÝWÜ¨ÜÈÉ PæãqrÃÜáÊÜ AíQWÜÙÜá ¯ÜÅÍæ®WÜÚXÃÜáÊÜ ¯Üä|ì AíPÜWÜÙÜ¬Üá® ñæãàÄÓÜáñÜ¤Êæ. 

 Figures in the right hand margin indicate maximum marks for the question. 

4. ±ÜÅÍæ°±Ü£ÅPæ¿á®Üá° K©PæãÙÜÛÆá 15 ¯ËáÐÜWÜÙÜ PÝÇÝÊÜPÝÍÜÊÜâ ÓæàÄ¨Üíñæ, EñÜ¤ÄÓÜÆá ¯WÜ©±ÜwÓÜÇÝ¨Ü 

ÓÜÊÜá¿áÊÜ®Üá° ±ÜÅÍæ°±Ü£ÅPæ¿á ÊæáàÇÝ½WÜ¨ÜÈÉ ¯àvÜÇÝX¨æ. 

 The maximum time to answer the paper is given at the top of the question paper. It 

includes 15 minutes for reading the question paper. 
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PART - A 

I. Four alternatives are given for each of the following questions / incomplete 

statements. Choose the correct alternative and write the complete answer 

along with its question number and alphabet :  3 × 1 = 3 

1. Which of the following is an example of oral communication ? 

 (A) Newspapers (B) Letters 

 (C) Phone calls (D) E-mail 

2. What makes you complete work or studies without others cheering you ? 

 (A) Self-motivation (B) Communication 

 (C) Self-confidence (D) Self-esteem 

3. A positive facial expression in the following is, 

 (A) Frowning while concentrating 

 (B) Maintaining eye contact 

 (C) Smiling continuously 

 (D) Rolling up your eyes 

II. Answer the following questions : 2 × 1 = 2 

4. What are goals ? 

5. Define sustainable development. 

III. Answer the following questions : 2 × 2 = 4 

6. Write any four function keys in the keyboard. 

7. List any two functions of an entrepreneur. 

OR 

 What are the good qualities of an entrepreneur ? 

IV. Answer the following question : 1 × 3 = 3 

8. Explain the characteristics of a good feedback. 
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PART - B 

V. D PæÙÜX®Ü ±ÜÅÍæ°WÜÚWæ A¥ÜÊÝ A±Üä|ì ÖæàÚPæWÜÚWæ ®ÝÆáR BÁáRWÜÙÜ®Üá° ¯àvÜÇÝX¨æ. AÊÜâWÜÙÜÈÉ ÖæaÜác 

ÓÜãPÜ¤ÊÝ¨Ü EñÜ¤ÃÜÊÜ®Üá° BÄÔ, A¨ÜÃÜ PÜÅÊÜÞûÜÃÜ¨æãí©Wæ ±Üä|ì EñÜ¤ÃÜÊÜ®Üá° ŸÃæÀáÄ  7 × 1 = 7 

 Four alternatives are given for each of the following questions / incomplete 

statements. Choose the correct alternative and write the complete answer 

along with its question number and alphabet : 

9. pæàŸÇ… B¶… PÜípæíp…Õ  BÁáR¿áá ¨æãÃæ¿ááÊÜ ±Üqr 

(A) C¬ÜÕp…ì (B) ÖæÇ…± 

(C) ÊÜäÂ (D) ¶ÝÊÜáìp… 

 ‘Table of contents’ option is available in the menu 

(A) Insert (B) Help 

(C) View (D) Format 

10. væàpÝ A®ÝÈÔÓ…Wæ ŸÙÜÓÜáÊÜ oãÇ… 

(A) ÃæçoÃ… (B) Cí±æÅÓ… 

(C) PÝÂÇ…R (D) vÝÅ 

 The tool used for data analysis is 

 (A) Writer (B) Impress 

 (C) Calc (D) Draw 

11. ¶æçÇ…¬Ü ÊÜÞWÜìÊÜâ Öæãí©ÃÜáÊÜ ¶ÝÊÜìv…ì ÓÝÉéÍ…WÜÙÜ ÓÜíTæÂ 

(A) ®ÝÆáR (B) GÃÜvÜá 

(C) ÊÜáãÃÜá (D) Jí¨Üá 

 The number of forward slashes in the path of a file is  

 (A) Four (B) Two  

 (C) Three (D) One 

12. PæãàÐÜrPÜ¨Ü AvÜxÓÝÆáWÜÙÜ®Üá° ×àWæ®Üá°ñÝ¤Ãæ 

(A) µàÇ…x (B) BÂqÅŸãÂp… 

(C) ÃæPÝv…ì (D) PÝÂíwvæàp… Qà 
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 The row in a table is called 

(A) Field (B) Attribute 

(C) Record (D) Candidate key 

13. ŸãÈ¿á¬… væàpÝpæç¯…Wæ Jí¨Üá E¨ÝÖÜÃÜOæ 

(A) TRUE/FALSE (B) $ 

(C) 12/25/1991 (D) – 34·98  

 An example for Boolean datatype is 

(A) TRUE/FALSE (B) $ 

(C) 12/25/1991 (D) – 34·98  

14. DBMS ®Ü ËÓÜõñÜÃÜã±Ü 

 (A) væàpÝ Aív… ŸáP…Õ ÊÜÞÂ¬æàh…Êæáíp… ÔÓÜrí 

 (B) væàpÝ¸æàÓ… ÊÜÞÂ¬æàh…Êæáíp… ÔÓÜrí 

 (C) vÜáÂ°ÉPæàp… ŸáP…Õ ÊÜÞÂ¬æàh…Êæáíp… ÔÓÜrí 

 (D) væàpÝ¸æàÓ… ÊÜÞÂ¬æàh…Êæáíp… ÔRÇ… 

 DBMS stands for 

 (A) Data and Books Management System 

 (B) Database Management System 

 (C) Duplicate Books Management System 

 (D) Database Management Skill 

14. CÇæQóPÜÇ… ÊæáqàÄ¿áÇ… ÊÜáñÜá¤ CQÌ¯…Êæáíp…, PæÙÜX¬Ü ¿ÞÊÜ Ë«Ü¨Ü AX° ÊÜXàìPÜÃÜ|PæR 

E¨ÝÖÜÃÜOæ¿ÞX¨æ  

(A) PÝÉÓ… B ÊæáqàÄ¿áÇ… (B) PÝÉÓ… A ÊæáqàÄ¿áÇ… 

(C) PÝÉÓ… C ÊæáqàÄ¿áÇ… (D) PÝÉÓ… D ÊæáqàÄ¿áÇ… 

 Electrical material and equipment are the examples for which type of fire 

classification ? 

 (A) Class B material (B) Class A material 

 (C) Class C material (D) Class D material 

15
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VI. ÓÜãPÜ¤ÊÝ¨Ü EñÜ¤ÃÜ©í¨Ü ¹qrÃÜáÊÜ ÓÜ§ÙÜÊÜ®Üá° »Ü£ì ÊÜÞw  4 × 1 = 4 

 Fill in the blanks with suitable answer. 

16. bñÜÅ ¹wÓÜáÊÝWÜ, BÂíPÜÃ… ………………… ¯ÝÀáíp… BX ¯ÝñÜÅÊÜ×ÓÜáñÜ¤¨æ. 

 Anchor acts as a ...................... point for drawing. 

17. ÍæàÃ… Óæøv…Îàp… BÁáR¿áá ...................... pÝÂ¸…¬ÜÈÉ ¨æãÃæ¿ááñÜ¤¨æ. 

 Share spreadsheet option is available in ........................ tab. 

18. væàpÝ¸æàÓ…®Ü ÃÜaÜ®æ¿á®Üá° ………………… Gí¨Üá PÜÃæ¿ááñÝ¤Ãæ. 

 The structure of a database is called ...................... . 

19. R.S.T. ®Ü ËÓÜõñÜ ÃÜã±Ü ………………… . 

 R.S.T. stands for ...................... . 

VII. 20. A-±Üqr¿áÈÉ ÃæçoÃ…®Ü oãÇ…WÜÙÜ®Üá° ÊÜáñÜá¤ B-±Üqr¿áÈÉ AÊÜâWÜÚí¨Ü bñÜÅ¨Ü ÊæáàÇÝWÜáÊÜ 

±ÜÄOÝÊÜáWÜÙÜ®Üá° ¯àvÜÇÝX¨æ. AÊÜâWÜÙÜ®Üá°  Öæãí©Ô EñÜ¤ÃÜWÜÙÜ®Üá° PÜÅÊÜÞûÜÃÜ¨æãvÜ®æ ŸÃæÀáÄ    

   4 × 1 = 4 

  The tools of writer are given in Column-A and their effects on image are 

given in Column-B. Match them and write answers with alphabet : 

A-±Üqr 
Column-A 

B-±Üqr 
Column-B 

i) CÊæáàh… µÆrÃ… 

 Image filter

a) CÊæáàh…®Ü WÜá|ÊÜáorÊÜ®Üá° PÜwÊæá ÊÜÞvÜáñÜ¤¨æ 

Reduces the quality of an image 

ii) µÉ±… ÖÝ‚Äg‚íoÈ 

 Flip horizontally 

b) CÊæáàh… PÝípÝÅÓ…r¬Üá® ÖæbcÓÜáñÜ¤¨æ 

Increases the contrast of image 

iii) ÍÝ±Üì®… 

 Sharpen 

c) CÊæáàh…¬Ü WÜá|ÊÜáorÊÜ¬Üá® ÖæbcÓÜáñÜ¤¨æ 

Increases the quality of an image 

iv) ÄÈà¶… 

 Relief 

d) CÊæáàh…¬Üá® 180° Àáí¨Ü AvÜxÇÝX 

£ÃÜáXÓÜáñÜ¤¨æ 

Flips the image horizontally by 180° 

 e) ®æÃÜÙÜá ÃÜbÓÜÆá ¸æÙÜQ®Ü ÊÜáãÆÊÜ®Üá° ÓÜÄ 

Öæãí©ÓÜáñÜ¤¨æ 

Adjusts light source to create shadow 

 f) CÊæáàg®Üá° 90° AvÜxÇÝX £ÃÜáXÓÜáñÜ¤¨æ 

Flip the image horizontally by 90° 

 g) CÊæáàh… PÝípÝÅÓ…r¬Üá® PÜwÊæáWæãÚÓÜáñÜ¤¨æ 

Decreases the contrast of image 
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VIII. D PæÙÜX®Ü ±ÜÅÍæ°WÜÚWæ EñÜ¤ÄÔ  4 × 1 = 4 

 Answer the following questions : 

21. væàpÝ A®ÝÈÔÓ… Gí¨ÜÃæà®Üá  

 What is data analysis ? 

22. È¸æÅ BµàÓ… ¸æàÓ…  A®Üá° ÊÝÂTÝÂ¯Ô.

 Define the ‘LibreOffice base’. 

23. PæãàÐÜrPÜ¨ÜÈÉ®Ü ±æùÊÜáÄ Qà  ¿á¬Üá® ÖæàWæ ÊÝÂTÝÂ­ÓÜŸÖÜá¨Üá 

 How can we define ‘primary key’ in a table ? 

24. ¸æ¯°®Ü ÊæáàÇÝ½WÜ¨ÜÈÉ EÄ¿ÞWÜÆá ÓÜí»ÝÊÜÂ PÝÃÜ|ÊÜ®Üá° £ÚÔ. 

 Mention the potential cause for burning in the upper back. 

IX. D PæÙÜX®Ü ±ÜÅÍæ°WÜÚWæ EñÜ¤ÄÔ  4 × 2 = 8 

 Answer the following questions : 

25. ÃæçoÃ…Wæ ÓÜíŸí˜Ô¨Üíñæ, D PæÙÜX¬Ü E¯ÜPÜÃÜ|WÜÚí¨Ü CÊæáàh… ÊæáàÇæ BWÜáÊÜ ¯ÜÄOÝÊÜáWÜÙÜ¬Üá® 

ŸÃæÀáÄ  

 i) CÊæáàh… Êæãàv… 

 ii) PÝÅ¯…  

 Write the effect on the image from the following tools in writer : 

 i) Image mode 

 ii) Crop 

A¥ÜÊÝ /OR 

 ÃæçoÃ…Wæ ÓÜíŸí˜Ô¨Üíñæ, ÓæãàÆÃæçÓæàÐÜ®… oãÇ… ÊÜáñÜá¤ ±æäÓÜrÃæçÓ… oãÇ…WÜÙÜ PÝ¿áìÊÜ®Üá° 

ŸÃæÀáÄ.

Write the functions of Solarisation tool and Posterise tool in writer. 

26. pæí±æÉào®Üá° Gwp… ÊÜÞvÜáÊÜ ÖÜíñÜWÜÙÜ®Üá° ŸÃæÀáÄ. 

 Write the steps for editing a template. 

27. RDBMS ®Ü B¸æjP…rWÜÙÜ®Üá° ±ÜqrÊÜÞw. 

 List the objects of RDBMS. 

28. È¸æÅ BµàÓ… ÃæçoÃ…®ÜÈÉ ¨ÜÓÝ¤Êæài¯í¨Ü ÍæçÈ¿á®Üá° Çæãàv… ÊÜÞvÜáÊÜ ÖÜíñÜWÜÙÜ®Üá° ŸÃæÀáÄ. 

 Write the steps to load style from a document in LibreOffice writer. 



86-EK (Level-2) 7  

  [ Turn over 

X. D PæÙÜX®Ü ±ÜÅÍæ°WÜÚWæ EñÜ¤ÄÔ  3 × 3 = 9 

 Answer the following questions : 

29. ÃæçoÃ…®ÜÈÉ, pÝÅéP… aæàígÓ… oãÇ…®ÜÈÉ ¨æãÃæ¿ááÊÜ ËË«Ü Ÿo®…WÜÙÜ®Üá° ËÊÜÄÔ. 

 Explain the various buttons available in the track change tools in a writer. 

30. ®æp…ÊÜP…ì væàpÝ ÊÜÞvæÇ…®Üá° Jí¨Üá E¨ÝÖÜÃÜOæÁãí©Wæ ËÊÜÄÔ. 

 Explain network data model with an example. 

A¥ÜÊÝ /OR 

 DBMS ®Ü ¿ÞÊÜâ¨Ý¨ÜÃÜã ÊÜáãÃÜá A®ÜáPÜãÆWÜÙÜ®Üá° ËÊÜÄÔ.

Explain any three advantages of DBMS. 

31. PÜí¯ÜäÂoÃ… ŸÙÜPæ ÊÜÞvÜáÊÝWÜ, ¨ÜêÑr ÓÜÊÜáÓæÂ¿á A¯Ý¿áWÜÙÜ¬Üá® ÖæàWæ PÜwÊæá ÊÜÞvÜŸÖÜá¨Üá   

ËÊÜÄÔ. 

 How to reduce the risks of visual problems while using the computers ?  

Explain. 

XI. D PæÙÜX®Ü ±ÜÅÍæ°WÜÚWæ EñÜ¤ÄÔ  3 × 4 = 12 

 Answer the following questions : 

32. WæãàÇ…ÔàP… ¯Ü¨ÜÊÜ¬Üá® ÊÝÂTÝÂ­Ô ÊÜáñÜá¤ È¸æÅ BµàÓ… PÝÂÇ…R¬ÜÈÉ WæãàÇ…ÔàP… A¬Üá® ŸÙÜÓÜáÊÜ 

ÖÜíñÜWÜÙÜ®Üá° ËÊÜÄÔ. 

 Define the term ‘Goal seek’ and explain the steps to use goal seek in 

LibreOffice Calc. 

A¥ÜÊÝ /OR 

 PÝÂÇ…R®Üá° ŸÙÜÔ, Öæç±ÜÃ…ÈíP…®Üá° ÃÜbÓÜáÊÜ ÖÜíñÜWÜÙÜ®Üá° ËÊÜÄÔ.

Explain the steps to create a hyperlink using Calc. 

33. È¸æÅ BµàÓ… PÝÂÆR¬Üá® ŸÙÜÔ, ËñÜÄñÜÖÝÙæWÜÙÜ¬Üá® ÖæãàÈÓÜáÊÜ PÝ¿áìË«Ý¬ÜÊÜ¬Üá® ËÊÜÄÔ. 

 Explain the procedure to compare the spreadsheets using LibreOffice Calc. 
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34. PæÙÜX®Ü væàpÝpæç±…WÜÙÜ®Üá° E¨ÝÖÜÃÜOæ ÓÜ×ñÜ ËÊÜÄÔ  

 a) ¬ÜáÂÊÜáÄP… væàpÝpæç¯… 

 b) PÜÃæ­Õ væàpÝpæç¯…  

 c) væàp… Bív… pæçÊÜå… væàpÝpæç¯… 

 d) ¸æç®ÜÄ væàpÝpæç¯… 

 Write the following datatypes with an example : 

 a) Numeric datatype 

 b) Currency datatype 

 c) Date and time datatype 

 d) Binary datatype 

A¥ÜÊÝ /OR 

 È¸æÅ BµàÓ… ¸æàÓ…®Ü ¿áãÓÜÃ… CíoÃ…¶æàÓ… pÝÂ¸…WÜÙÜ®Üá° ËÊÜÄÔ.

Explain the user interface tabs of LibreOffice base. 

   




